

THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

# INTEGRATED DEGREE (Sciences)(CHEMISTRY), II-SEMESTER

Result Declaration Date: 13-Oct-2025 Notification No: 1898

AEC18n: Spoken Skills in English CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

Sr.No	Roll No.	Name of	AEC18n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC10n	SGPA	TC	Failed
31.110	HOII NO.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	JUFA	10	Courses
1	24/IMSCHE/01	AASTHA S RAM	Α	B+	B+	B+	С	В	С	6.36	22	

AEC25n: Entrepreneurship Development CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC16n: Professional Ethics & Human Values

Sr.No	Roll No.	Name of Student	AEC25n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC16n	SGPA	тс	Failed
31.110	HOII NO.	Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	Courses
2	24/IMSCHE/02	ABHAY KUMAR AGARWAL	Α	Α	Α	Α	B+	0	A+	8.27	22	
3	24/IMSCHE/03	ANSHIKA	В	B+	A+	Α	B+	B+	В	7.36	22	
4	24/IMSCHE/04	ARCHANA KRISHNAN	B+	В	B+	B+	В	A	В	6.82	22	

AEC13n: Logical Reasoning CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSHU108n: BASICS OF FINANCIAL ACCOUNTING VAC5n: Emotional Intelligence

Sr.No	Roll No.	Name of	AEC13n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSHU108n	VAC5n	SGPA	тс	Failed Courses
31.140		Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	JULA	10	railed Courses
5	24/IMSCHE/05	ARNAV KUMAR KHUGSHAL	Р	F	В	F	Р	B+	В	4.00	16	CH106n IMSAC104n

OIC (Results)

Controller of Examination

Note: Any discrepancy in the result in r/o name/roll no/registration/marks/grades/course code/title should be brought to the notice of Controller of Examination/OIC(Results) within 15 days of declaration of result, in the prescribed proforma.



### THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

# INTEGRATED DEGREE (Sciences)(CHEMISTRY), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

AEC18n: Spoken Skills in English CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC5n: Emotional Intelligence

Physics II VAC5n: Emotional intelligence

Sr.No	Roll No.	Name of	AEC18n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC5n	SGPA	TC	Failed
31.140	Holl No.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	Courses
6	24/IMSCHE/06	ATREYEE DAS	B+	B+	В	Α	С	B+	Α	6.73	22	
7	24/IMSCHE/10	LAKSHYA VOHRA	Α	Α	Α	A+	В	Α	A+	7.91	22	
8	24/IMSCHE/21	VARTIKA SINGH	Α	Α	B+	B+	F	В	A+	5.91	18	IMSAC106n

AEC13n: Logical Reasoning CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC6n: Extension Outreach Activities

Sr.No	Roll No.	Name of Student	AEC13n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC6n	SGPA	тс	Failed
31.110	noii No.	Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA		Courses
9	24/IMSCHE/07	HIMANSHI	В	С	Α	Α	В	Α	A+	7.27	22	
10	24/IMSCHE/13	PRASENJEET VISHWAKARMA	Α	Α	A+	A+	В	A+	A+	8.27	22	
11	24/IMSCHE/14	PRITI	B+	С	Α	Α	B+	Α	A+	7.55	22	
12	24/IMSCHE/22	NAHUSH GUPTA	С	С	B+	B+	F	B+	A+	5.55	18	IMSAC106n

AEC4n: Business Communication and Presentation Skills CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSMA108n: Mathematics-II VAC5n: Emotional Intelligence

OIC (Results)

Controller of Examination



(Formerly Deini College of Engineering

### THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

# INTEGRATED DEGREE (Sciences)(CHEMISTRY), II-SEMESTER

Result Declaration Date: 13-Oct-2025

Notification No: 1898

Sr.No	Roll No.	Name of Student	AEC4n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSMA108n	VAC5n	SGPA	TC	Failed
31.140	Holl No.	Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	JULA	10	Courses
13	24/IMSCHE/08	KAMAKSHI RAI	Α	A+	0	0	A+	В	A+	8.73	22	
14	24/IMSCHE/16	SHREYSI VISHVA	B+	A+	A+	A+	B+	В	A+	7.91	22	
15	24/IMSCHE/19	SHUBHI GOYAL	В	B+	Α	Α	В	F	A+	6.00	18	IMSMA108n

AEC13n: Logical Reasoning CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC5n: Emotional Intelligence

Sr.No	Roll No.	Name of Student	AEC13n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC5n	SGPA	TC	Failed
31.110	HOII NO.	Name of Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	Courses
16	24/IMSCHE/09	LAKSHAY BHATNAGAR	С	В	B+	Α	В	B+	A+	6.91	22	
17	24/IMSCHE/12	PRACHI SHRIVASTAVA	A+	A+	0	0	Α	0	A+	9.36	22	

AEC4n: Business Communication and Presentation Skills CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC5n: Emotional Intelligence

Sr.No	Roll No.	Name of	AEC4n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC5n	SGPA	тс	Failed
31.110	Holl No.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	Courses
18	24/IMSCHE/11	MUSKAN	В	B+	A+	B+	В	B+	B+	7.09	22	
19	24/IMSCHE/20	SRIJAN DHYANI	В	В	B+	A+	В	B+	A+	7.18	22	

OIC (Results)

Controller of Examination



### THE RESULT OF THE CANDIDATE WHO APPEARED IN THE FOLLOWING EXAMINATION HELD IN MAY 2025 IS DECLARED AS UNDER:-

# INTEGRATED DEGREE (Sciences)(CHEMISTRY), II-SEMESTER

Result Declaration Date: 13-Oct-2025 **Notification No: 1898** 

AEC18n: Spoken Skills in English CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSMA108n: Mathematics-II VAC10n: INTRODUCTION TO BIOLOGICAL SCIENCE

Sr.No	Roll No.	Name of	AEC18n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSMA108n	VAC10n	SGPA	тс	Failed
31.140	HOII NO.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGFA	10	Courses
20	24/IMSCHE/15	RIYA	Α	В	С	B+	В	В	Α	6.36	22	

AEC18n: Spoken Skills in English CH106n: Water Technology IMSAC102n: Inorganic Chemistry 2 IMSAC104n: Organic Chemistry 2 IMSAC106n: Physical Chemistry 2 IMSPH108n: Physics II VAC6n: Extension Outreach Activities

Sr.No	Roll No.	Name of	AEC18n	CH106n	IMSAC102n	IMSAC104n	IMSAC106n	IMSPH108n	VAC6n	SGPA	тс	Failed Courses
31.110	HOII NO.	Student	2.00	2.00	4.00	4.00	4.00	4.00	2.00	SGPA	10	raileu Courses
21	24/IMSCHE/17	SHUBHAM DABAS	В	С	F	F	F	С	A+	2.73	10	IMSAC102n IMSAC104n IMSAC106n
22	24/IMSCHE/18	SHUBHAM RANA	В	Р	F	F	F	С	A+	2.64	10	IMSAC102n IMSAC104n IMSAC106n

OIC (Results) **Controller of Examination**